Mat321 - Spring 2018 - Exam1-Home

Instructor: Dr. Francesco Strazzullo

Name KEY

I certify that I did not receive third party help in completing this test (sign)

Instructions. Technology and instructor's notes (including the formula sheets from our book) are allowed on this exam. Each problem is worth 10 points. If you use notes or formula sheets, make a reference. When using technology describe which commands (or keys typed) you used or print out your worksheet.

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. A particle travels along a line. Its velocity in meters per second is given by $v(t) = \cos(3\pi t) - t^3$. Find

(a) the displacement during the [1, 7] time frame;

(b) the distance traveled by the particle from t = 2 to t = 4.

(a) $= \int_{1}^{7} \sqrt{(t)} dt = \left[\frac{1}{3\pi} \sin(3\pi t) - \frac{t^{4}}{4} \right]_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \cos(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \cos(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \cos(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \cos(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(2\pi t) - \cos(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left(\sin(3\pi t) - \frac{t^{4}}{4} \right)_{1}^{7} = \frac{1}{3\pi} \left($

(b)
$$V(t) = 0$$
 on [2,4]: Dist = $\int_{2}^{4} |V(t)| = \int_{2}^{4} t^{3} - cds(3\pi t) = \left[\frac{1}{4}t^{4} - \frac{sunf3\pi t}{3\pi}\right]_{2}^{4}$

$$= 60 \text{ Metons}$$

2.A virus is spreading, infecting at a rate modeled by

$$I'(t) = 235 \frac{(1+2t^3)}{(t^2+2)^2}$$

individuals per day, where I(t) is the number of new people infected t days after the first case has been recorded. What is the net-change in new cases recorded during the first three weeks? (Once you setup this problem you can use technology to perform computations.)

$$\frac{d}{dx} \int_{1}^{x^{2}} \sqrt{3t^{3} + 2} dt$$

$$g(X) = \int_{1}^{x^{2}} \sqrt{2t^{3} + 2} dt$$

$$4SMJD FOR g'(X)$$

$$FTC: H(X) = \int_{1}^{X} \sqrt{3t^{3} + 2} dt = DH'(X) = \sqrt{3}x^{3} + 2$$

$$g'(X) = d \left[H(X^{2})\right] = 2X \cdot H'(X) = 2X \sqrt{3}x^{6} + 2$$

4. Use the Substitution Method to evaluate the following integral:
$$\int_{2}^{4} x \sqrt{2x + 4} \, dx$$

$$\int_{5}^{12} \left(\frac{1}{2}u - 2\right) \sqrt{u} \cdot \frac{1}{2} du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} - 2u^{\frac{1}{2}} \, du = \frac{1}{2} \int_{8}^{12} \frac{1}{2} u^{\frac{3}{2}} \, du =$$

5.Use Integration by Parts to evaluate the following integral:

$$\int x^{2} \cos x \, dx = \chi^{2} \sin \chi - \int 2\chi \sin \chi \, dx$$

$$U = \chi^{2} - D \, du = 2\chi \, d\chi$$

$$dv = Los \times d\chi - D \quad v = \int dv = sin \chi$$

$$dv = Sin \times dv = 2 \text{ foll } = sin \chi$$

$$dv = Sin \times dv = 2 \text{ foll } = -cos \chi$$

$$= \chi^{2} \sin x + 2x \cos x + \int -2 \cos x dx =$$

$$= \chi^{2} \sin x + 2x \cos x - 2 \sin x + C$$

6. Use the Partial Fractions Method to evaluate the following integral:

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{3x+2}{(3x-2)(x+4)}dx = \frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{3x-2} + \frac{B}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{3x-2} + \frac{B}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{x+4} \Rightarrow A(x+4) + B(3x-2) = 3x+2$$

$$\frac{3x+2}{(3x-2)(x+4)}dx = \frac{A}{3x-2}dx = \frac{A}{x+4}dx = \frac{$$

7. Determine whether the following integral is convergent or divergent, and evaluate it if it is convergent.

7. Determine whether the following integral is convergent or divergent, and evaluate it if it is convergent.

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx = \lim_{\alpha \to 0^{+}} \int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} \frac{1}{\sqrt{x}} dx$$

$$\int_{0}^{1 \ln x} dx$$

$$\int_{0}^{1 \ln x} dx$$

Mat321 – Spring 2018 –Exam1-InClass

Instructor: Dr. Francesco Strazzullo

Name

Instructions. Technology and instructor's notes (including the formula sheets from our book) are allowed on this exam. Each problem is worth 10 points. If you use notes or formula sheets, make a reference. When using technology describe which commands (or keys typed) you used or print out your worksheet.

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

Evaluate the following

8)
$$\frac{d}{dx} \int_{1}^{x^{3}} \sec(2t-1) dt = g'(x)$$

9(x) = $\int_{1}^{x^{3}} \sec(2t-1) dt = \int_{1}^{x^{3}} \sec(2t-1) dt = \int_{1}^{x^{3}} \det(2t-1) dt = \int_{1}^{x^{3}} \det(2t$

9)
$$\int_{1}^{2} \frac{1}{(3x-6)^{2}} dx$$
 = $\int_{-3}^{0} \frac{1}{u^{2}} \frac{1}{3} du = \frac{1}{3} \lim_{b \to 0^{-3}} \int_{-3}^{b} u^{-2} du = \frac{1}{3} \lim_{b \to 0^{-3}} \int_{-3}^{b} u^{-2$

10)
$$\int x \ln x \, dx = \frac{1}{2} x^2 \ln x - \int \frac{1}{2} x \, dx = \frac{1}{2} x^2 \ln x - \frac{1}{4} x^2 + C$$
 $u = \ln x \quad \exists u' = x \quad dx$
 $dv = x \, dx \quad \exists v' = \int dv = x^2/2$
 $= \frac{1}{4} x^2 \left(2 \ln x - 1\right) + C$